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- N Grey line: exponential fit Peak flux: 2.460+/- 0.036 c/s/cm’ .
— - Black line: power law + gauss fit Fluence : 66.18+/- 1.00 c/cm? —
Dashed line: power law i

1.00 — Duration: 89.10+/- 1.64s —
- Best fit model: 3. -

- Best fluence model: 3. .

B ] Best duration model: 3. ff* ]
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20— Power law fit plus Gaussian (st.dev.= 48.64+/- 0.44 s, fracgs= 0.40+/- 0.01) -
- Power law index: -2.397+/- 0.075 (chi*-red= 28.15) M 3

= -

- } IRAT
10" * * N W o ¥
= by it } R b A
OF ity R T T S IR T AN I S Y R, il =
S Pt gt AR il b PHE R =
10E- f f | * 1 ﬂw =
- + * E
20 E
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L -

0 100 200 300

Time [s]



